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R%, = {(x.y) €R* x,y >0}
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f: R, — R

NEZoNTWHELET.
(x,y) ER%,, t>0 = (tx,ty) e R%,
CHERELEL &S, FO o ROEIREH (FREH) Thd ik
f(tx, ty) = t%f(x,y) ((x,y) € R34, t>0)
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#il Cobb-Douglas 5%

f(x,y) = Ax®y? ((x,y) € R&)

% Cobb-Douglas BUBI# & IR, A2 pERAEL, B DOET VIZHWS Z
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() (ty)” = 2 PxyP

75 Cobb-Douglas BIEAUIE o + B IRFEIREEAETH 5.
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Euler D%
T
f: RA, > R aRAXEHESTS. 0oL
xf(x,y) + ¥f,(x,y) = af(x,y) ((x,y) € R{,)
ML T 5.

f(tx, ty) = t%f(x,y)
DA% t TR T 5L
xf(tx, ty) + yf,(tx, ty) = at* 1 f(x, y)
LB, ZITt=1,95L

xt(x,y) + yf,(x,y) = af(x,y)
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Euler D3 (2)

Akl
f: R?H_—>R75§

<t (x,y) + yh (x,y) = of (x.y) ((xy) € R2,)
BRI OE, fldaRERERE 5.

(t~F(tx, ty))
—at™ T (tx, ty) + 7 (Xh(tx, ty) + yF, (tx, ty))
—at™ T (tx, ty) + t 0t () f(tx, ty) + (ty)f (tx, ty))
= —at ™ H(tx, ty) + 7 af(tx, ty) =0
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